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ECONOMICS (PAPER-II)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS
(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must
be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in a medium other than the authorized
one.

Word limit in questions, wherever specified, should be adhered to and if answered in much
longer or shorter than the prescribed length, marks may be deducted.
Graphs/Illustrations, wherever required, may be drawn/given in the space provided for
answering the question itself.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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WUs—A / SECTION—A

1. fr=ffan 3 @ &% v7 &1 IR @ 150 w=d1 # fafaw
Answer the following questions in about 150 words each : 10x5=50

(a) Tofem smaaea # Rl HY F e B TgE A a FRE H aHE i)

Examine the factors that facilitated commercialisation of Indian agriculture
during the British rule.

(b) ¥ Y GHF & % wia # Wl ¥ sfoew § T Swma (TRA) e, WA e SEw
28 off? HRU FaEY|

Do you think that the ‘new guarantee’ system was better than the ‘old
guarantee’ system in the history of Railways in India? Give reasons.

() T w@rea (frepa ¥ey) # &fd s/ager 1 § FA 7 Tefa @ H yrfsar #
T Hif

Analyse the relevance of Gadgil formula in reducing horizontal imbalance of
fiscal health.

(d 1960 ¥F 3% ¥ WeA A 1970 & a0 & 7 M I F €R 991 F g& wwn R
for=mn Sifsm)

Explain the principal causes of deceleration in industrial growth during the
mid-1960s to mid-1970s.

(e) T H Frdw w0 v wne = § 97 i) wra § Fedaa F1 e oA A R
STan 87

Distinguish between absolute measure and relative measure of poverty. What
kind of measure is used in estimating poverty in India?

2. () Ffew = & wra & S 9 gt @@ @ & faem fi g Tt i gorn fif

Compare the main features of development of jute and cotton textile industry
in India during the British period. 20

(b) Jert-gd arafy # wwdE syl 9 e aget & s B s w5 e
s

Analyse the trends in the production of primary goods and capital goods in
Indian industries during the pre-liberalisation period. 15

() Qar-gd i § gEwiE &7 % Iemi F feaem &1 e faveo i)

Critically analyse the performance of public sector enterprises during the
pre-reform period. 15
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3. (@)

(b)

(c)

4. (a)

(b)

()

T AY FHA & o6 wRa A gt 4 guR, FR Seaesa sen % forg sravas fheg watw
¥d A& /7 3 IW Al W i

Do you think that effective land reforms are necessary but not sufficient
conditions for raising agricultural productivity in India? Explain your answer.

FETFTT % e i ety wteg FHafal H aguda HetE § sioerdt & § e Hf

Examine how the domestic companies are competing with the MNCs in the
post-liberalisation era.

WA H FH1E I, AR a1 371 oo w &fa i & wvma =1 e Hifvg)

Analyse the impact of Green Revolution on agricultural output, employment
and income distribution in India.

T A FEF § 76 1980 % 2% H WRa A wHA W IR (Sfo Lo do) A gy aun 3w
&1 T | UF 9 G (%) I gHa a1 4n? R Fawsy)

Do you think that India experienced a major break in GDP growth and its
sectoral composition during the 1980s? Give reasons.

wia # T 3 % Fufor § w1 oy wrt @ ang g B sta S

Examine the relative role of demand side factors in determining national
income in India.

F1 A1 FHEd € 6 A & P i g F g R-oma smm B o smm ¥ @ F s
HET A1 91fR? SRy i)
Do you think that non-income dimensions should be treated as

complementary to income dimension in measuring poverty in India? Give
reasons.

@uvs—B / SECTION—B

5. frafaRad # ¥ v9% 991 1 IR oW 150 wsdl § fofiaw

Answer the following questions in about 150 words each :

(a)

(b)

el wrarsdt & g W # wwa @ “anfifes T’ R ) anem ¥ e Ry et f st
i)

Examine the arguments to explain the theory of ‘economic drain’ from India in
the second half of the 19th century.

Wl FY T fova SR we (S Ao 3lte) F I TF (TS8) % A=l fhY T FR W
FHAT (To 3o To) Fi yq@ Wlragaadt i wrarfierar #1 fwewo Hifve)

Analyse the effectiveness of the major commitments of Agreement on
Agriculture (AoA) of the Uruguay Round of WTO on Indian agriculture.

20

15

15

20

15

15

10x5=50
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(c)

(d)

(e)

6. (a)

(b)

()

(b)

(c)

el THERU &3 I 9g1a1 31 & fIY WRd @R gR1 i 18 T veet 1 fvemu fifvg)

Analyse the new initiatives taken by the Government of India to boost food
processing sector.

wd 3 Tl wRTe | 9eEn 3 & forg yrda fied ¥ (3o dio 3mRo) g1 SrwAr
wrifer - faaemn s

Discuss the strategies adopted by the RBI to promote financial inclusion in
India.

g Fwfor qon P e & werew i wge oo AR T sftfrm (wRem) 6
e &1 T hifeg |

Evaluate the role of MGNREGA in asset creation and poverty alleviation.

WA § F W GEEE =9 F TY@ Ueh PH-2 &7 991 A9 HN fwm B g 59 ¥
fore F w wrdetF = F ey (Y) § R yor & giads 6 sgem s0?

What are the major components of public expenditure on agriculture in India?
Would you recommend any changes in the pattern of public expenditure on
agriculture to stimulate agricultural growth?

A # SR-3nia fasra % dedf 3 A (wenfin) F wew w1 favewo £

Analyse the significance of planning in the context of market-based
development in India.

R & o1& hY A H ARG TWHR H w9 Ay (Nl wierd) qon e gedt w ey
I FEF wTEt hi sitg gy

Examine the procurement policy of the Government of India in the
post-liberalisation period and its impact on agricultural prices.

T F 7w H 3 F wra § yw R few (Twe Ho 3mz0) F A siwaty
(¥R Foei) 1 favewo $iftg)

Analyse the sectoral inflows of FDI in India during the post-liberalisation
period.

et JEmt § el &3 f arfied ser & fog wra @R A wEitE B e
o= Sifsrg

Critically discuss the strategies formulated by the Government of India to
increase private sector participation in public enterprises.

TSThISTY Foa1e W aRed fod smam 6 srgeranadt 1 e favemo $ifig)

Critically analyse the recommendations of the Twelfth Finance Commission
on fiscal federalism.
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8. (@) U0 @R A wufaddEa ® wonfia He) 7@ A it @R B FoiadEE w©arER @

(1wd I1) i rgeraisd & wdeo Hif)

Define capital account convertibility. Examine Tarapore Committee (I and II)

recommendations on capital account convertibility of rupee. 20
(b) dE FR W R (o 3o ARo Po THo) T F WHTE 1 farerwwr Hifsr)

Analyse the effects of TRIPS Agreement on Indian agriculture. 15

(c) & e ift 3 fra vohr s § Asm F R A wfafda frn {7 e il

How does the New Economic Policy change the structure of employment in
India? Evaluate. 15
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